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RESISTANCE OF GROUND ROD:

One ground rod:
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Where: 
R = resistance in Ω            d = distances - in cm                  a= rod radius (cm)
ρ =  resistivity in Ω.cm       S = space between rods (cm)      L= Rod length (cm)        

Two ground rods:
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a)  For  S L  : 

b)  For  S L  : R3 L S a ρ( )
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Example: 

Rod  lengt:        L 10ft

Rod diameter:  d
5

8
in    ;  Radius  

Soil resistivity:  ρ 150Ω m

Number of rods.n

Rod Spacing:  S  , Burried depth: h 24in

One ground rod:  

a
d

2
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R1 L a ρ( ) 49.634 Ω
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